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Exercices dipôles résistifs
  

Dans chacun des cas ci-dessous, calculer la résistance équivalente du groupement: 
 
Req = ? 
 
 
 
 
 
Req = ? 
 
 
 
 
 
 
 
Req = ? 
 
 
 
 
 

Req = ? 
 
 
 
 
 
 
 
 
 
 
 
Req = ? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

R1 = 100 ΩΩΩΩ 

R2 = 300 ΩΩΩΩ 

R1 = 100 ΩΩΩΩ R2 = 50 ΩΩΩΩ 

R2 = 130 ΩΩΩΩ 

R3 = 230 ΩΩΩΩ 

R1 = 60 ΩΩΩΩ 

R2 = 120 ΩΩΩΩ 

R3 = 30 ΩΩΩΩ 

R1 = 10 ΩΩΩΩ R4 = 50 ΩΩΩΩ 

R2 = 10 ΩΩΩΩ 

R3 = 20 ΩΩΩΩ 

R4 = 30 ΩΩΩΩ 

R5 = 40 ΩΩΩΩ 

R6 = 50 ΩΩΩΩ R1 = 100 ΩΩΩΩ 
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Req = ? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Req = ? 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

R1 = 70 ΩΩΩΩ 

R5 = 200 ΩΩΩΩ 

R6 = 50 ΩΩΩΩ 

R4 = 20 ΩΩΩΩ 

R2 = 80 ΩΩΩΩ R3 = 150 ΩΩΩΩ 

R11 = 110 ΩΩΩΩ R12 = 120 ΩΩΩΩ 

R1 = 10 ΩΩΩΩ R2 = 20 ΩΩΩΩ R3 = 30 ΩΩΩΩ R4 = 40 ΩΩΩΩ 

R9 = 90 ΩΩΩΩ R10 = 100 ΩΩΩΩ 

R5 = 50 ΩΩΩΩ R6 = 60 ΩΩΩΩ R7 = 70 ΩΩΩΩ R8 = 80 ΩΩΩΩ A B 

A 

B C 

D 
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